



Nome: _____

Data: _____ Punteggio: _____

$$3^{(-2)} - (-7) =$$

$$9^2 + 4 =$$

$$3^2 - 3 =$$

$$(-8)^0 + 3 =$$

$$(-6)^2 + 1 =$$

$$3^{(-2)} - 8 =$$

$$(-3)^{(-2)} - 8 =$$

$$3^2 + (-7) =$$

$$3^{(-1)} - (-10) =$$

$$7^2 + 8 =$$

$$(-3)^{(-1)} - (-8) =$$

$$7^2 - 6 =$$

$$9^2 + (-5) =$$

$$8^{(-2)} - 3 =$$

$$(-10)^{(-1)} + 4 =$$

$$10^{(-1)} - 5 =$$

$$5^2 + (-8) =$$

$$6^2 + 10 =$$

$$(-1)^2 + (-6) =$$

$$1^{(-1)} + 4 =$$



Nome: _____

Data: _____ Punteggio: _____

$$3^{(-2)} - (-7) = \frac{64}{9} = 7\frac{1}{9}$$

$$9^2 + 4 = 85$$

$$3^2 - 3 = 6$$

$$(-8)^0 + 3 = 4$$

$$(-6)^2 + 1 = 37$$

$$3^{(-2)} - 8 = \left(-\frac{71}{9}\right) = \left(-7\frac{8}{9}\right)$$

$$(-3)^{(-2)} - 8 = \left(-\frac{71}{9}\right) = \left(-7\frac{8}{9}\right)$$

$$3^2 + (-7) = 2$$

$$3^{(-1)} - (-10) = \frac{31}{3} = 10\frac{1}{3}$$

$$7^2 + 8 = 57$$

$$(-3)^{(-1)} - (-8) = \frac{23}{3} = 7\frac{2}{3}$$

$$7^2 - 6 = 43$$

$$9^2 + (-5) = 76$$

$$8^{(-2)} - 3 = \left(-\frac{191}{64}\right) = \left(-2\frac{63}{64}\right)$$

$$(-10)^{(-1)} + 4 = \frac{39}{10} = 3\frac{9}{10}$$

$$10^{(-1)} - 5 = \left(-\frac{49}{10}\right) = \left(-4\frac{9}{10}\right)$$

$$5^2 + (-8) = 17$$

$$6^2 + 10 = 46$$

$$(-1)^2 + (-6) = (-5)$$

$$1^{(-1)} + 4 = 5$$